JL_

Semplificai rapporti Nome:
Semplifica ogni rapporto il pit possibile. Risposte
ES) 64:56 87 1) 27:9 2) 36:28 .
_— _— Es. 87
1.
2,
3 20:35 4) 50:70 5 40:45
- E— — 3,
4,
5,
6) 27:45 7) 56:48 8 20:25
- - - 6.
7.
8.
9 18:2 10) 72:27 1) 9:6
- - - 9,
10.
11.
12) 72:32 13) 35:14 14) 20:36
12.
13.
14.
15 30:5 16) 54:12 17) 35:10
15.
16.
17.
18) 7:35 19 12:6 20) 32:24
18.
19.
20
[I\/I atematica] 4 1-10 [95]90[85]80[75]70[ 65|60 55|50
Www_Cc)mmonCOfeShee[S.it 11-20(45(40|135|30|25(20|15|10| 5 0




=
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